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a
)
b Rule - Complimentary angles a & b add up to 90°

a
_(\i Rule - Supplimentary angles a & b add up to 180°
X Rule - Vertically Opposite angles are equal

Rule - Corresponding angles are equal

Rule -  Alternate Interior angles are equal
Alternate Exterior angles are equal

Rule -  Co-interior angles add up to 180°
Co-Exterior angles add up to 180°
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From his line of sight 7m high, a life guard sees ,\ {wj‘\'m
two people in distress. The angles of&p@to
the individuals are 50 and 36 degrees respectively.

What is the distance between the two people in distress?
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a) Using the proper trig ratio, find theta.
b) Find the missing side x.
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On a specific date, the selling rate for China's yaun compared
to the Canadian dollar is 0.162600 and the buylng rate is
0.127100. How many yaun will you receive for $500.00 CAD?

®© LQ\' X= \\jc\on
1. Letx="7? p
2. Set up ratio (words) © 1 ‘%———“ (% 3 r}?
3. Set up proportion Jomes ‘D
4. Solve
N e X
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On the same day as the previous example. If, after
purchasing your yaun, you decided not to go to China
and sold the yaun back to the bank, how much would

you lose?

® \otx= CAD
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2. Set up ratio (words) (3) = #5012
3. Set up proportion I
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A chainsaw's engine uses a mixture of 33 L of gas
to 2 L of oil. How much oil must you mix with 15 LL
of gas?
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Recipe #2 I You want to make 10 cups of Recipe
2 cups of concentrate #2. How many cups of concentrate
5 cups of water

and water will you need?
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Jonathan earns $18.50/hour for regular hours of work.
Jonathan works a 40 hour work week, and is paid time and
a half for overtime.

a)What is his overtime rate of pay?

e P /e x 1.5 =¥371.75 hr

b) If he works a 45 hour work week, what is his gross pay?
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You worked a four-hour shift as a server and your customer
bills totalled $2500.00 before tips. Your rate of pay is $10.00/h.

a) How much did you make before tips during
the four hours?

Y hes X& \O.OO/\r
:&’40- o

b) If all of your customers tipped you 10%, how much
did you make in total duting your 4 hour shift? |/, - o\

¥ o500 0 ol ?Ctlj \
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4.95 - 0,013
You need to calculate the Canada Pension Plan deduction for

John, whose is paid weekly with a contribution rate of 4.95%
of any gross earnings above $3500.00. If John's gross pay is
$1275.00/week, calculate his CPP contributions.

® B%p® @wbe O 1301
D - 61.% X O.M36

= %@).3! 101,69

If John pays union dues of $35 and pension dues of $150,
what are his total before tax deductions.

2o - Y% o
:h \85.00

Calculate John's taxable gross. (G(c,és Po“b - BTD}

Taxolle Gegs = 10152 -Hgg.00
< %R0

Calculate John's Federal and Provincial tax contributions if he
uses claim code 2.
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Bill's bank offers a simple interest rate of 4% per
annum. How much interest would Bill earn on his
investment of $3000 after 9 months.

Calculate the Interest earned on an initial investment of
$8000.00 if Interest 1s paid at 3.75% per annum, compounded

semi-annually for three years.
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Conversions
a) 39 mi= km
b) 42 ft = m
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Find the volume and surface area

January 16, 2019

14



	Page 1: Jan 15-10:08 AM
	Page 2: Jan 15-10:16 AM
	Page 3: Jan 15-10:06 AM
	Page 4: Jan 15-8:11 PM
	Page 5: Jan 15-10:11 AM
	Page 6: Jan 15-10:19 AM
	Page 7: Jan 15-10:32 AM
	Page 8: Jan 15-1:35 PM
	Page 9: Jan 15-1:38 PM
	Page 10: Jan 15-1:40 PM
	Page 11: Jan 15-7:38 PM
	Page 12: Jan 15-7:46 PM
	Page 13: Jan 15-7:55 PM
	Page 14: Jan 15-7:59 PM

